CK 173-104/124/504 /524

CK 174-104/114/128/540/514 /524
ERSATZTEIL-LISTE CKS 174-104/114/124 /20472147224

GAGGENAU  SPARE PARTS LIST K 175-104/114/124/504 /514 /524 13/93

14




Stueckliste E630287
CKS174104 CKS174114 CKS174124 CKS174204 CKS174214 CKS174224 CK173104
CK173124 CK173504 CK173524% CK174104 CK174114 CK174124 CK174504

CK174514 CK174524

N T T T I I I I DI B T I D A S A A D N S T B B A B I A D D N D S S S B PEEe e e e Rl S N CEEE W B wey e ke mm— S il SN SRS S S S S S S S B - e e e m—— em— em— ks mm—d eim om—— eish iR ARl e -

. S . T . G S S R . e sl skl ks kel ol el e el ek — — — — — — — — — e b b e R N S S B A TR T mms s el B . S S B B S S A W e ey geesh sl ol skl el . S S - S - S - W S S S S W — —

o ~J

11

210864

210866
097464
523623

323513
5238038
324025
233321
211083
211084
211081
211082
233324
291368
233323
155426

5320531
211052

211053
211054

157095
098185

292074
098187
098617
0928613
098186
098616
098188
292776

098619

E630287_4_2

Abschirmblech gekl. CK 174
Abschirmblech gekl. CK 175
Abschirmblech gekl. CKS174

Bez.-stoepsel blau
Bez.-stoepsel weiss
Bez.~stoepsel schwarz
Bez.~-stoepsel gruen
Keramikplatte gekl.
CK/CKS 174-104/504/204
Keramikplatie gekl.
CK/CKS 174-114/514/214
Keramikplatte gekl.
CK/CKS 174-124/524/224

Keramikplatte gekl.
CK 175-104/504
reramikplatte gekl.
CK 175-114/514
Keramikplatte gekl.
CK 175-124/524
Keramikplatte gekl.

CK 173.104/504
Keramikplatte

CK 173-124/524
Dichtungsband
CK/CKS 174, CK 175
Feder
Gehaeusewanne gen.
CK/CKs 174

Gehaeusewanne gen.

CK 173

Gehaeusewanne gen.

CK 175

Glasftaserschlauch
Halogenheizkoerper O 145
220 V, bis S.Nr.
Halogenheizkoerper O 145
230 V, ab S.Nr.
Heizkoerper 145 0 240 V
CK 17.-5.4/ bis S.nr.
Rondo—-Halogenheizkoerper
145 mm, 240 V ab S, Nr.
Heizkoerper 145 mm, 380 V
CKS 174-2.4
Halogenheizkoerper 180 mm
220 V, bis S.Nr.
Rondo-Halogenheizkoerper
180 mm , 230 V ab.S.nr.
Heizkoerper 180 mm , 240V
CK 17.-5.4 bis S.Nr.

Rondo-Halogenheizkoerper
180 mm , 240 V, ab -s.Nr.

Heizkoerper 180 mm , 380V
CKS 174-2.4

Screening plate, glued,
Screening plale glued,
Screening plate glued
Designation siopper blu
Designation stopper white
Designation stopper black
Designation siopper green
Ceramic plate glued
CK/CKS 174-104/504/204
Ceramic plate, glued
CK/CKS 174-114/514/7214
Ceramic plate, glued
CK/CKs 174-124/524/7/224
Ceramic plate glued

CK 175-104/504

Ceramic plate glued
Ck 175-114/514
Ceramic plalte glued

CK 175-124/524

Ceramic plate, glued
CK 173-104/504
Ceramic plate

CK 173=124/524
Sealing strip

CK/CKs 174, CK 175

Spring

Housing riveted
CK/CKs 174
Housing riveted
CK 173

Housing riveted
CK 175

Glass Tibre hose

Halogen heating element
220 V, to serv.nao.
Halogen heating element
230 V, from serv.no.
Heating element 0 145, 2
Ck 17.-5.4 to s.no.

Halogen heating element

145 mm, 240 V, from s.no.

Heating element 145 mm, 380V

CKS 174-2.4

Halogen heating element
220 V, to s.no.

Halogen heating element

180 mm , 230 V. froms.no.
Heating element 180 mm 24

CK 17.-5.4 to serv.no.

Healting element
180 mm , 240 V, froms.no.

Heating element 180 mm ,
CKs 174-2.4

380V



CK  173-104/124 /504 /524
L LSTE CK 178-104/114/124/504 /514 /524
ERSATZTEIL- CKS 174-104/114/124/204 /214 /224
GAGGENAU  SPARE PARTS LIST CK 175-104/114/124/504 /514 /524 15735




Stueckliste E&630287
CKST174104 CKS174114 CKS174124 CKS174204 CKS174214 CKS174224 CK173104
CK173124 CK173504 CK173524 CK174104 CK174114 CK174124 CK174504

CK174514 CK174524

- . . el e —— — — s TS WSS T TR T ST S T T S S G G T N S S S i sk B G A T T S T TN R e S e e e — — il el G e S R R A e S kel il e ek —

27

28
29
o.Abb.

097061
098464
323147
320532
524141
320462
156919
156696
523612
520533
156366
156325
155437

157112
098630

098180

098631
098635
098179
098636
292378

157152
310370

E630287_4_4

Isolierschlauch O 8
Kabelbaum

Kabelbaum
Kabelbefestiger
Kabelklemme
Klemmring CK 173
Mutter M 5
Restwaermeanzeige
Scheibe CK 173
Spannschraube M5x30
Spannwinkel
Steckerteil Zpol.
sSteckerteil 4polig
Steckerteil épolig CKS174
Strahlungsheizkoerper
140x240

CK/CKS ~1.4
MHei1zkoerper

140x240

CK -5.4

Hei1zkoerper 380 V
CKS 174~2.4
Stranlungsheizkoerper
mm 210 CK/CKS -1.4
Hei1zkoerper

mmm 210/120 CK -=5.4
Hei1zkoerper 380 V
CK/CKS 174.2.4
Isolierplatte
Litze/Erdung
Reinigungsschaber

Insulating hose 0 8
Wiring harness

Wiring harness

Cable holder

Cable clamp

Clamp ring CK 173

Nut M 5

Residual heat i1indicator
Disk CK 173

Fixing screw M5x30
Fixing angle

PLug part 2 poles

PLug part 4 poles

Plug part 6 poles, CKS 1
Heating element
140x240

CK/CKS -1.4

Heating element
140x240

CK -5.4

Heating element 380 V
CKs 174-2.4

Heating element

mm 210, CK/CKs -1.4
Healting element

mm 210/120 CK =5.4
Heating element 380V
CK/CKS 174=-2.4
Insulating plate
Earth wire

Cleaning scraper



